Quizizz

Triangle Congruence Review

1. Which is NOT a test to prove triangles congruent?
[] a sAA [] b
[] o ssA [] o

2. What does CPCTC stand for?

|:| a) Corresponding Parts of |:| b)
Corresponding Triangles are
Congruent

D C) Corresponding Parts of
Congruent Triangles are

Congruent

3. Complete the congruence statement.

| AOGD =A

4. Which segment is congruent to EF?

Name :

Class :

Date :

SSS
SAS

Congruent Parts of
Corresponding Triangles are
Congruent

PCR
PRC

HF



Use the congruency statement to answer the following:

<F=___

. aEFI =aHGI

[] a <H [] b <
D C) <G |:| d) not congruent to another
angle

Are these triangles congruent? If so, state the rule which you used to determine congruence.

B C
D
Aﬁ
E F
[] a YesbyAsA [[] b YesbyAAs
D C) Yes by SSA |:| d) Not congruent

Are these triangles congruent? If so, state the rule which you used to determine congruence.
M

110" 12m

[] a AAA [] b AAsS

D C) ASA |:| d) Not necessarily congruent

Are these triangles congruent? If so, state the rule which you used to determine congruence.

B / e

a) SSA [] b Aas
c) ASA [ ] d  Notnecessarily congruent



9.

10.

11.

12.

Are these triangles congruent? If so, state the rule which you used to determine congruence.

Are the triangles congruent? Justify your answer.

£ N

[]

L]
L]

a)

c)

a)

c)

www.analyzemath.com

SAS
Both SSS and SAS

SSS

ASA

Congruent by

c)

SSS
ASA

Congruent by

)

(1]

(1]

(1]

SSS

Not necessarily congruent

SAS

SSA

SAS
AAS

SAS
AAS



13.  Congruent by

14.  Congruent by
[] a sss
[] o AsA

15.  Congruent by

16. Congruent by

(1]

(1]

(1]

(1]

SAS
AAS

SAS
AAS

SAS
AAS

SAS
AAS



17.  Congruent by

D ;;1) F L {!}

b) SAS

[] o AsA [] & Aas

18. How are these two triangles congruent?

[] b AsA

|:| d) Not enough information

19. How are these triangles congruent?

[] b saAs

|:| d) Not enough information




20.

21.

22.

How are these triangles congruent?

How are these two triangles congruent?

[] a AAs

|:| C) Not enough information

How are these triangles congruent?

ASA

Not enough information

ASA
SAS

Not enough information

HL



23. How are these two triangles congruent?
w

4

[ ] a  Notenough information [] b sAs

[] o AsA [] o ssA

24. How are these two triangles congruent?

G

D a) Not enough information |:| b) SAS

[] o AsA [] d ssA

25.  Are these triangles congruent?

B D
C
E F
[] a YesbyAAs [[] b Yes bysSAs
|:| C) Yes, by ASA |:| d) No, this is the SSA one!!



26. Are these triangles congruent?

M

-
N J K
[[] a  Yes bysss [[] b  Yes bySAS
[] ©  YesbyAAs [[] d  YesbyHL

27.  Are these triangles congruent?

A F E

B C D

[] a  YesbysAs [[] b Yes byAAs

[] ©  YesbyHL [[] d  No, thisis the SSA onel!

28. Are these triangles congruent?

Given: PT = PV,
LT =2V

T
[[] a  Yes byAAs [[] b  Yes byASA
|:| c) No they are not congruent |:| d) Not enough information to

know for sure



29. State what third congruence is required in order to know that the triangles are congruent for the reason given
(NOT including vertical angles or shared sides).

SAS
K J
\
\l
I z

I

[] a k=2 [] b K=2J
[] o K=.z [] o Ku=_.zJ

30. State what third congruence is required in order to know that the triangles are congruent for the reason given
(NOT including vertical angles or shared sides).

SAS

C

[] a CA=NL [] b C=:N
[] o -A=.L [] & :B=uM

31.  State what third congruence is required in order to know that the triangles are congruent for the reason given

n

(NOT including vertical angles or shared sides).
SSS

[] a :E=.Y [] b EZX=.YZX
[]

c) EXZ=.YXZ [] o Ez=vz



32. State what third congruence is required in order to know that the triangles are congruent for the reason given

(NOT including vertical angles or shared sides).
SAS

G

|:| a) ‘W= _G |:| b) Y = /|
[] o Yx=Ix [] o wy=al

33. State what third congruence is required in order to know that the triangles are congruent for the reason given
(NOT including vertical angles or shared sides).
SSS
L J I G
K H
[] a wW=IG [] b L=l
[] o J=.G [] & K=:H
34.

State if the two triangles are congruent. If they are, state which theorem you would use.




35. Complete the congruence statement.

2. ARA(,‘ IA

C

36.

[] a sAs [] b
[] o sss [] o

37. What is the correct congruence statement? ADEC =

D G
E
A B
[] a naeB [ ] b
[] o nBEA (] a

OGE
GOE

SSA

ASA

AEAB

Not Congruent



38. What additional information is needed to prove the triangles are congruent by HL?
-

X

A) LXVW=UVWor £LX=2U
B) XvV=Uv

C) LXVW=UVW

D) WX= WU

[] a A [] o B
[] o ¢ [] & D

39. What additional information is required for the 2 triangles to be congruent by ASA?

7 P v
— J J: : ‘//
K w v[f
A U=UV
B) iJ=z/Vor /K=/W
C) 4=V
D) JK=VW

40. A =.7




